o 16. You have acquired a business loan from Bank of Kigali wath Q
< ¢, repayment perwd 18 4 years, dt annual interest rate of 12%. Yl gw Beeii allowed to pay in 8
e equal 1nstallments ovet the loan period.

- " ANSWERS TO EXAMINATION PAPER 2013

»

e Value addedtaxofla%

A table will be sold at 200,000 Rwf and a chair 100,000 wa

) Required' Prepare a budget for Celine Uwera's workshop. s

,000 Rwf; the

Prepare a loan repayment sch'edule to ensure effective loan mariagement.

END

_SECTION A |
© Q.1 a) Define cons‘u‘miition_

b) State any four factors that influence consumption,

L Answer

- a) Consumptionlrefers to the expenditure on goods and s‘ervitwﬂf"tb"s"a‘tisfy human needs.

N Consumptlon is also the satisfaction of human needs throtigh the use of goods and -

;0 services.

. b) Fa“c’to‘rs inﬂ‘ue‘n;;cin'g consumption are:

. Price level.

2 Income.

* 3. Humian dcsires.
4. Population size.
5. Taxation .

‘ '6“. ‘Rate of interest.

7. Pressure of social groups/Peer group.
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- ‘,r‘_-v‘R.equired;.
a) Calculate Manzi's opening capital.
b) Prepare a well organized balance shect for Manzi.

| 14 Akabuto Enterprise wants to calculate the professional income tax ofl d‘w Sﬁlaﬂes of

- October 2013 for their following employees:

Umuhsa gets 550 000 Rwf
v:‘ : .3 Bagabo gets 400 000 Rwf
'i.v'Karnalr gets 100,000 Rwf
' Mutangana gets 90,000 Rwf
u]Ka'liz"a» gets. 30 000 Rwf

Requrred Calculate the total amount for professional income tax of AKABUTD‘

e ,‘employees

~ chairs within five months. The following expenses will bé made:

1. Celme Uwera owns a carpentry workshop and is planning to make ldﬂ les and 100

Purchase of 300 wooden boards at 25,000 Rwf per board

-Purchasirrg varnish and accessories at 800,000 Rwf

‘ 20 workers W1ll be paid 30 000 wa each
Workshop rent at 100,000 Rwf pcr month
- "‘-‘\Electrtctty 30,000 .wa per morith
o Water 6000 wa per mo‘nth
: ”: ‘~Repaiirs z‘mct ‘rn‘aintenance‘40 000 Rwf per month

i Transport costs 50, OOO wa per month

Telephonc 40,000 Rwf per month

- - Securlty guard 20, 000 wa per month

Vi Mtscellaneous expenses lO % of the total expenses
' | 18
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o 13 Seasons.

| ~ 2. -Size: The dimension of d bi“odu‘ct can influence positively ot ﬁbga

IS 6. N Eétjheﬁés: The good appearance of a product also influences the buyer.

8 ‘Fa‘shi‘on.

9. Anticipati'on or expectations.

o O.'G0vernmént policy.
11, Advertisement,

TR V) Taste and preference.

i 1 4. Level of savings. ‘

Q.2 Diffefentiate between an Invoice and a receipt.
e Answer ‘

P Ani invoice is a record by which the seller informs the buyer on the details dﬁd ptlce of sold
.y ; goods and specifies the delivery and payment.

Whilé

! ; y A recelpt is a.document that the saller gives to the buyer as a proof of paying a ceftain
| 27 amoum of money.

Q 3 You want to buy a compmcr in Nyarugenge market. Explain aﬁy ﬁﬂ pmpedurcs

o “you would use to ensure that you buy a computer of the best quality.
& Answer
L :,"‘,“"vl‘hejpqucedure,s you would use to ensure that you buy a computer of the best quality:

g I. Weight: The heavier the product, the more it is appreciated by 4 gonsiifner.

3 ‘Volumc The spacc OCCUPied by the product.

t 4 'Lntc expectatlon/durablhty Long life is preferred.

5 The cost of mamtenanca i.e the cost to maintain the machine is gonsidered.

20
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- 7. Speed: A product which wotks fast is preferred than a j:\i’ﬁdﬁbf which works slowly.
- 8. Brand name/trade mark €-g Toshlba Hp Lompaq, eic

T - 4%&« i B
9. Origin of the computer for example if you considet sorrie matcrlals from China

many people don't prefer them because they think that they are pilates, so they prefer
' materials from Japan, Germany rather than from China.

10. Reputation/Credibility of the manufacturer
“ 11. The rate of break down.
12. Version.

13. Guarantee or warranty.

14. Price.
1. Its capacity.
16 Power consumption of the machine.

‘ | Q. 4 Explain the stcps in the process of changing from a domestic market to a’
‘ completely integrated regional market.

o B The process of changing from a domestlc market to a completely integrated reomnal
o .+ market:

1. Preferentiai trade area: This is a commercial zone Whﬂ'& ﬁﬁuntries feel to do an
economic iiitegration. '

2. Free exchange area: All member countries remove the tdriffs between themselves
but maintain the tari{fs on goods from non member coutitries.

3. Customs union: There exist free movement of goods emd gervices between member
states.

4. Common market: In this stage, all factors of productiof ag labour and capital move
 freely among member countries.

5. Economic commumty Countries join each other; they haﬁnanize their economic
policies that can lead to the use of unique currency and pol itlcai federation where the
" region will be acting as one state.
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i Q 5 State any five reasons for keeping accounts of an enterprise.

" Answer:

: For reference

- Record classify, summarize and analyze commercial and financial trahsdctions.

; ‘Supply mformatlon for external parties and ascertain the profit or 1088 df an enterprise.

: "Facﬂrtatle rational dec1sron making.

It allows. the enterprise to establish the planning.

- Meabures the perfommnee of the business.

Provide information. for researcl'x.

. It makes easy the tax assessment by the government.

. Usedrto handle creditors and debtors.

Means of resource control

e e S

| 1 l.rHelp‘the firm to access credit.

- 12“.-For proper managemeiit.

13. Tt acts as evidence that the transactions take place.

- 14. Used to measure the perfomam;e of manager.

‘o

el

o Q 6 Mentlon .my five documents for declaration of goods in customs.

, Commercral invoice.

' Tral‘rsacti“on‘ invoic‘e,

: Trahsport invoice. .
‘ 1moo'rt licence.

“Certificate of origin.

Certificate of quality/(}n.lality analysis Certificate.
| ‘ 22
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‘ o

~ Packaging list,

Arrival declaration.

Certificate of inspection.

Identification of importer.

¥

SRR e TN 3 s

* Arrival note.

Vehicle inspection certificate.

Rallway consignmerit.

Q 7 a) Specify any two objectives of Rwanda Bureau of Staﬁﬂ*ﬁ!s.

| b) Explam any three types of standards.

Ansv\ er:

a) “The obJectlves of Rwanda Bureau of Standards (RBS):

P e Baela g

Control quality of goods produced and goods nnyczﬂ”a ;1 {h Rwanda.
State and conditioning of commodities which are im o) d or exported.
Protect constirtiers from using harmful products. -

- Controlling weights and measures used by the business people.
To follow and respect (conform) to the internationa) standards.
To advise the business community to respect and obsetve the quality

i

; b) | Explain any threeitypes of standards.

1. Product standards which precise characteristics of tH# products such as size,
- weight, quality and performance.

2. Fundametitd] staridards which are a basis for size st yuality.
3. Services standards which precise the rules of docliftients presentation such as

bills of sales, printed documents, etc.

v Q.8 Identify :niy“five stages in procurement of office supplies. f‘

Answer:

Stages in procurement of office supplies are the following:

I

Determination of the stock security.

23



N

o :Identiﬁ‘c'ati.on of purchase need,

E 3 Selec'trdn of the supplier.

' 4 ‘V‘P‘la’cing m order.

) 5 ' The: follow up made by t!w supplice,

i ‘61.,;‘Presentation of an invhic& | '
7 lRecelpt of goods/P.,xynu it ol poods.

; FQ 9 Llst any five roles of an entreprencur.

‘nswerr ) b

Roles of an entreprencur

.1 An entreprencur perecives the riceds and analyze them in relatinii tQ Ihe abjectives
. that he has set

,”2 An entlepreneur observes the environment and identify the needed businass
' opportunity. '

“I58 Am entrepreneur conducts market research in order to make selmﬂdn’ﬁfthe best
L prOject

ol 4 An entrepreneur moblliZes all the resources to identify and start a busineSS
‘ 5 " An cntrepreneur calculates the business risks el Findsa way fo mihimize them.

il G, | Distriblition of rewards.

‘ 9. Irrrrr)vétion.
; 10, Morivation;
| i"""11,- ‘fstafﬁng- -

‘ " 12. Co-ordinating,

24




P13, Decision making
14 Budgeting
-1 5. Management of busin'ess' resources.

Q 10 Explam any ﬂw steps in product planning.

‘ Answer

Steps in product planning are:

" 1. Generation of jdeas regarding the product.

Sci'eenmg ideas.

Development of a pmject plan or proposal.

W

4: . Product testing.
X 5 8. Launchmg of the product on the market.

Q 11 Oufline any ﬁVe elements of a finansil plan.

s 1 A,nswer.

Ve Ele;ﬂéhts of a fin‘axicinj plan:

1. A detailed financial plan.
2 ?‘“Financial amount/T otal cost of the project.

3. The On-ening bélhnée sheet.

- 4. Projected balance sheet for any time.

L 5 ~ Projected trading, profit and loss account.

- 6. Break-even poinf.

G Source of funds.

| 8 Return on investment.

; 29 : | 9 HOW Pmﬂt.Wﬂi be tised.
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34 1 1 It should av01d double taxatlon
) ," 12, Equxty/Falrness

13 It should be accepted socidlly and economically.

. It should be certain.

10 Fixed capital.

Pfoject cash flow statcment

s 12 A monthly hquld asset plan

Payback period.

e SECTION B
0 "Q 12 a) State any three characteristlcs of a good tax.

b) prlam the importaﬁbe of tax from an cconomic, ﬁnanciﬁ* “’

i ."“.‘.“v,“‘AnSWer'

a) Characterlstlcs of 4 goad tax:

It should be neutral.

It should be based on people's ability to pay.

R should be comprehensive.

r I t Shq‘uld be simple.

1t should not cause economic distortion.

: ‘1t'shoulc:1 b'e‘ produétiVe;- |

Tt should be flexible.

‘ It shouid be convenie‘nf

26

VT e Gt BT

#hal point of




" b) The importance of tax from an economic, financial and social point of view:

- 1. Financial function of tax:
v The function of the central administration.
v The national defence. .
v Payment of the salaries of the government officidls and civil servants.
v Payment of national debt.
2 Economic function of tax:

1.

I Y

10.
11T

It is a source of government revenue to finance public activities like roads,
schools, hospitals, defense, etc.
Tax is used to protect domestic infant industries.

Tax is used to control inflation.

Tax is used to control monopoly power.

Tafis used to discourage dumping.

Tax is used to solve balance of payment problems.

Taxes encourage individuals and firms to work hard to get money to pay taxes
and remain with enough money for consumption and saving.

It is used to stabilize the exchange rate.

Tax is used to redistribute income e.g taxes are used to reduce income
mequahty where the rich is taxed and the poor is subsidized.

Protecting the environment.

To balance regional development by taxing developed areas and increasing
expenditure on backward areas.

‘ 3 boclal function of tax:

1.

Tax is used to control the consumption of undeairable commodities e.g h1gh
taxes on alcoholic drinks discourage their consumption.

“Taxes helps in improving the collective welfare such as settlement, feeding,
clothing, health, etc. ‘
Tax reduces income inequality. -
Tax is used to subsidize the poor. -
Tax is seen as a sign of social solidarity becauise the contributlon of the rich are
used to finance services that are beneficial to all people
To avoid over exploitation of resources.
Tax can be used to reduce the population growth if taxes are based or: the
number of children.
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551 "Answer

Q | 13 On 1 January, 2013 Manzi started business with the followmg aawis

j‘,igriiabilities;

B ¢) ‘Calculate Manzi's operiing capital.
' d)ﬂ, Prepare a well organized balance sheet for Manzi.

a) ASSETS-—- CAPITAL+LIABILITIES

CAPITAL—ASSETS-LIABILITIES

‘ '“242 800-42, 800 200 000

Cap1tal 200,000 Rwf

28

'L“Item Rwl
Assets: '
| Cash on hand 16,800
% r'.gtbcko'n' hand 48,000
‘ Furnitufe and fittings 76,000
Machinery ‘ 80,000
0 | Debtors 22,000
: .l.,iabilitiesv-:
3 ‘.Creditiﬁrs_ | 30,800
s Bank overdraft 112,000
,A‘«.“‘Requlred

s Cﬁpltal" (16,800+48 000+76;000+80 000+22,000)-( 30,800+12,000




ASSETS/wa - | lLIAle till éAPITAL/wa
FIXED ASSETS: | Capital 200,000
Furniture and fittings 76,000 '
B ‘Machinery | 80,000 S
" | CURRENT ASSETS: CURRENT L{ABILITIES:
Cash on hand 16,800 Creditors 30,800
1 Stockonhand . 48,000 Bank ovetdraft =~ 12,000
Debtors 22,000 =
Total 242,800 Total 242,800
Pan ~ Q. 14 Akabuto Enterprise wants to calculate the professional income fax on the salaries of
o " October 2013 for their following employees:

© Umulisagets 550,000 Rwf
i ‘Bé‘gabo gets 400,000 Rwf

- ._ . Kamah gets 100“000 wa

g | ‘Mutangana gets' 90 000 Rwf

A, - ‘Kalxza gets . 30 000 Rwf

c R Requlred Calculate the total amount for professional income tax of AKABUTO'
employees

29




: Answer

. ‘Smce PIT is progresswe, it will be charged as follows:

= : 'VIncome(wa) : '1 ‘ R:llu

oo el e .
R 130‘001-100 000 20%
100 ,001 and above 30%

L j a) Umuhsa s income is the scale of 100,000 and above, his salary is 550,000 Rwf
' Therefore 30,000 Rwf is exempted

- (100,000-30,000) x20% = 14,000 Rwf
~ (550,000-100,000) x30%= 135,000 Rwf
| ~ 14,000+135,000= 149,000 Rwf
ke v" “ Umuhsa is supposed to pay 149,000 Rwf

b) Bagabo s income is the scale of 100,000 and above, hlS salary is 400,000 Rwf
Therefore 30 000 Rwf is exempted

(100‘,000-30,000) x20% = 14,000 Rwf

S e

' 14,000+90,000= 104,000 Rwf

*"Bag‘aboi is suppoééd“to pay 104,000 rwf

. c) Kamali's income is the seale of 30,000-100,000, his salary is IOG,QW ﬁ.wf
. Therefore 30,000 Rwf is exempted G

‘ i
(100,000-30,000) x20% = 14,000 Rwf
. Kamali is supposed to pay 14,000 Rwf

d) ‘Mutangana's income is the scale of 30,000-100,000, his salary is 90,000 Rwf.
Therefore 30,000 Rwf is exempted

| (90,000-30,000) x20% = 12,000 Rwf
B L el 30
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"
Mutangana is supposed to pay 12,000 Rwf
Kaliza's incomé is the scale of 0-30,000 , his salary is mﬁﬂﬂwa

Therefore 30,000 Rwf is exempted
 (30,000-0) x0% = 0 Rwf, F

g Kaliza is supposed to pay 0 Rwf, she is exempted to pay.

The total amount of Professional income tax to be paid by Akabuto s employees

= 149, ooo+104 000-+14,000+12,000+0= 279,000 Rwf

- Or

~ Formula: Professional Income Tax (PIT) for 100,000 Rwf= 100,000-30,000= 14,000

Rwf

"a) Umulisa's PIT= (550,000-100,000) x30%+14,000= 149,000 Rwf

b) Bagabo's PIT= (400,000-100,000) x30%-+14,000= 104,000 Rwf
¢) Kamali's PIT= (100,000-30,000) x20%=14,000 Rwf

d) Mutanga's PIT= (90,000-30,000) x20%=12,000 Rwf

e) Kaliza's PIT= (30,000-0) x0%= 0 Rwf

" The total amount of Professional income tax to be pajd by Akabuto's employces

= 149,000+104,000+14,000+12,000+0= 279, 000 RWf-

Q 15 Celine Uwera owns a carpentry workshop and is planning to makc 100 tables and 100
chairs within five months. The following expenses will be madé’

- -Purchasing varnish and accessories at 800,000 Rwf

- 20 workers will be paid 30,000 Rwf each

-+ - Workshop rent at 100,000 Rwf per month

“-lﬁlectricity 30,000 Rwf per month

- Water 6000 wa per month

= Repairs and maintenance 40,000 Rwf per month
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. -Transport costs 50,000 Rwf per month

1. j’g.';ﬁ":f‘—fli“e‘l‘gphone 40,000 RWf ﬁer month

-Secunty guard 20,000 Rwf per month
1 - AT ‘M‘:iscclléneous expenses 10% of the total expenses
N \{:jillg‘e added tax of 18% s
_, i A table will b§ sold at 200,000 Rwf and a chair 100,000 Rwf.

: ";R\lcqui‘red: Prépare a budget for Celine Uwera's workshop.

‘ .‘ Answer e

;‘C'e‘li‘p'e Uwera's budget.

‘1}EX[!>.en,s¢s ST ‘Amo’un‘t Income Amount

Purchase of Eéards | o 7,500,000 Sales of tables | ﬁ’QO,ﬁOO
-1 |vamishand accessories | 800,000 Sales of chairs 16,000,000
| workers 3,000,000 i
' 'Workshoprent .| 500,000
| Bleotricity 150,000
“"Walterf‘ . ‘ 30,000
. »:chéif_s and maintenance | 200,000
| Transport 250,000
| Telephone 200,000
| ) 100,000
Total‘e};pénsc ‘ - 12,730,000
i Mnscellaneous expenses 1 273,000
: “Totgl“f‘expens“é before Tax | 14,003,000
1 {Taxvany 2,879 460

i3 Seéurity guard -

i | Total expevn'se‘s 116,882,460 30,000,000




EERE T LA B
| Miscellanebus expenses= 10% of the total expenses
| | =12,730,000x10% =1,273,000 RWf ’
i P,_ro‘ﬁt before tax (VAT) = Income-Expenses B
= 30,000,000-»14,00'3,000
o =15997,000
-Sincé VAT s calculated on profit, VAT = 15.997,000x1 8%
! o | = 2,879,460
: Profit after tax (VAT) = 30,000,000-16,882,460
| = 13,117,540 Rwf

Q 16 Youhave acquired a business loan from Bank of Kigali worth 4,000,000 Rwf; the

repayment period is 4 years, at annual interest rate of 12%. You h,mm ‘been allowed to pay in 8 =

equal installments over the loan period.

| ‘..Prepare a loan fe‘];ayment schedule to ensure effective maﬁﬁi en

Solution:
i’dncipal= 4,000,000
=12%
 n=4years
. If 4 years has 8 inéfallﬁients
1 year has 8/4 installments= 2 installments= 6 months
' This means that we will pay twice in 1 year.
| Annual prin‘cipa] amount payable = 4,000,000/4=1,000.()99;?{5 o
Since we have {0 bay twice in one year, every installxngﬁt‘-“# l;ﬂ69,000/2= 500,000 Rwf
* Annual interest=4,000,000x12%= 480,000 Rwf
| lnterest per installment= 480,000/2= 240,000 Rwf
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- Loan ‘repayment schedule

hi;ch'i'od/Years ‘ - | Laon lﬁterest rate ";’fofal amount
L installment L
- | o amount in Rwf Rwi) ;m‘””
T T tmstaliment | 300,000 240,000 17405000
| o » | 2 installment 500,000 240,000 740,000
2 e | 3 installment - 500,000 240,000 740,000
‘s | 4" installiment 500,000 240,000 740,000
. 37 5™ installment 500,000 240,000 740,000
| 6" installment 500,000 -1 240,000 740,000
S - | 7" installment 500,000 240,000 740,000
PR g™ instaliment 500,000 240,000 740,000
' 4,000,000 1,920,000 15,920,000
o

- Interests in each installment = (4,000,000x12%) x4 = 240,000 Rwf

8

£ “H‘I‘ﬁtﬂegé_sts in 4 years= (4,000,000x12%)x4= 1,920,000 Rwf

" Payment of each installment = (4,000,000x12%) x4+4,000,000 = 740,000 Rwf

" Total payment in 4 years= 740,0008 = 5,920,000 Rwf
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o Prlnmpal 4,000,000 wa

Interest in 1 year = (4,000,000x12%) = 480,000 Rwf

" Interests in 4 years= (4,000,000x12%) x4= 1,920,000 Rwf

‘ ‘Total amount to be paxd"‘ 4,000,000+1,920,000= 5,920,000 wa

’ "Pavyment of each Installment =5,920,000/8 = 740,000 Rwf
‘-'N ote: It is better to use the table when solving the similar questiof.
| END

A ‘ENTREPRENEURSHIP EXAMINATION PAPER 2014
SECTION A

Differentiate between mobile banking from Ordinary banking.

12, Suggest any two benefits of trade between Rwanda and Ugantla.

i, In the past, Rwandans wrote letters to their friends and sent thetn hy post.

~Explain Why using this method has been minimized in favour of othet fethods, and identify

. two of these other methods.

‘ .Jf_;.b 4. a)_What is meant by “endorsement o.f a cheque” and what is its purpose?
.b) Explain any two reasons for dishonouring a cheque. |

‘5. Give two‘reason‘s why communication is important in business.

Ll 6 Explain the differerice between reports, memos and letters. |

7. Give two cases where the Rwanda Revenue Authority may iise sanctions or penalities
against a tax payer.

‘8‘. a) Explain the importance of accounting records.

o' b) In Rwandan law, how long should accounting records be lu,pt Befbre they are put away
" inarchives?.
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